
Opérations avec deux fractions (H)

Nom: Date: Note:

Calculez chaque résultat.

1.
40
9 − 14

5 =

2.
2
7 ÷

9
5 =

3.
23
11 ×

12
5 =

4.
5
3 ÷

1
2 =

5.
14
3 − 3

2 =

6.
4
3 +

91
19 =

7.
3
2 +

13
7 =

8.
46
11 ÷

5
6 =

9.
6
5 −

1
2 =

10.
11
6 + 12

11 =
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Opérations avec deux fractions (H) Réponses

Nom: Date: Note:

Calculez chaque résultat.

1.
40
9 − 14

5 = 200
45 − 126

45 = 74
45 = 12945

2.
2
7 ÷

9
5 = 2

7 ×
5
9 = 10

63

3.
23
11 ×

12
5 = 276

55 = 5 155

4.
5
3 ÷

1
2 = 5

3 ×
2
1 = 10

3 = 313

5.
14
3 − 3

2 = 28
6 − 9

6 = 19
6 = 316

6.
4
3 +

91
19 = 76

57 +
273
57 = 349

57 = 6 757

7.
3
2 +

13
7 = 21

14 +
26
14 = 47

14 = 3 514

8.
46
11 ÷

5
6 = 46

11 ×
6
5 = 276

55 = 5 155

9.
6
5 −

1
2 = 12

10 −
5
10 = 7

10

10.
11
6 + 12

11 = 121
66 + 72

66 = 193
66 = 26166
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